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QUESTION 1

The TAG attribute cannot be set for the internal port VCTRUNK of the board on the NMS. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 2

The last 256 columns in the OTN frame structure are FEC areas, which are used for forward error correction. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 3

The fiber core refractive index n1 must be ( ) the cladding layer refractive index n2, which is a necessary condition for
transmitting optical signals in optical fibers. 

A. higher than 

B. lower than 

C. equal to 

Correct Answer: A 

 

QUESTION 4

Which of the following working windows is indicated by "2" in the optical module parameter L-64.2"? 

A. 880 nm 

B. 1310 nm 

C. 1550 nm 

D. 1510 nm 

Correct Answer: C 
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QUESTION 5

Which of the following statements about the signal label byte C2 is incorrect? 

A. The C2 byte is used to indicate the multiplexing structure of the VC frames and the payload property. 

B. The C2 byte to be sent must match the C2 byte to be received. 

C. If the C2 byte mismatch is detected, an LP_SLM alarm is reported in the corresponding VC-4 channel. 

D. C2=00H indicates that the VC-4 is unequipped. 

Correct Answer: C 
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